(] ) 8 1 ] H) 4 k] 2 !
REV. DESCRIPTION DATE ENG ECO # | APPR
| [CREATE DRAWING 24SEP08 | LR
2 [(2X) SCREW WAS M4 X 6, NOW M4 X 20 19NOVO8 | LR
3 |REPLACE TWA057 CLAMP W/INDIVIDUAL COMPONENTS OIDECO8 | LR
2 |SCREWM4AB20BZ 91010420 . SCREW,M4 BUTTON 20 BZ W/PATCH
8 |SCREW6-32PP625T 90709017 . SCREW,6-32 PHIL PAN 5/8 TYPE 23 SZ
| TW401 99130022 - REFLECTOR, FACETED
| TWISI 80070450 F PLATE,MOUNTING, REFLECTOR SG
4 |TW509 99330171 | FOAM,SILICONE STRIP 1/8 X 1/4
| T01717 99080366 - DUCT,AIR DEFLECTOR, LAMP, SHB/SG
4 |Tw341 99260502 A CLAMP,MOUNT ING, REFLECTOR SG
ITEM NO.| QTY F ILENAME PART NO REV DESCRIPTION
BILL OF MATERIALS
UNLESS OTHERMISE SPECIF ED : 2105 GRACY_FARMS LANE
DIMENS IONAL TOLERANCES : EEEFASE P 85. NS Elisrin: e To7so
- o = (512) 836-2242
O PLACE DECIMAL = £0-38 [ME- = FAX (512) 832-4128  LIGHTWAVE
2 PLACE DECIMALS =0 13 [MFG: DRW: PETE PHILLIPS [svarowe® hitp://umm highond.con RESEARCHa
\ ANGLES = £0.5 DESCRIPTION
o PAINTED PARTS RETER To|REFLECTOR, ASM, COMPLETE , SHB/SG
ENG. SPEC. WANUAL WI-0592 [warewin ATIEn
ALL COMPONENTS, NATERIALS AND | CHARTED ‘NA
FINISHES TO BE RoHS COMPLIANT
PROPRIETARY NOTICE: MIN._DRAFT INTERPRET DIMENSIONS PER SI PART NO. ORAWING NO. Rev.
A| THIS DOCUMENT CONTAINS CONFIDENTIAL AND PROPRIETARY INFORMATION OF HIGH END SYSTEMS INC., (ALSO DBA LIGHTWAVE RESEARCH) AND IS GIVEN TO THE RECEIVER IN CONFIDENCE MIN. RADIT ASME Y14.5M-1994 ‘ N T E R N A L T Q A O 7 ‘ 3
THE RECEIVER ACCEPTS AND AGREES THAT, EICEPT AS AUTHORIZED BY HIGH END SYSTEMS, THE RECEIVER ¥ILL NOT PERIT THE USE OF THE DOCUMENT OR ANY COPY THEREOF OF THE FLATHESS THIRD ANGLE PROJECTION METRIC
NFORMATION THEREIN, WILL NOT COPY OR PERMIT COPYING THE DOCINENT VILL NOT DISCLOSE T0 OTHERS EITHER THE DOCUMENT OR THE INFORMATION THERCIN, MD WILL LPOK CONPLETION THICANESS DIMENSIONS ARE TN WiLLmETeRs| AT
OF THE NEED 10 RETAIN THE DOCINENT, OR UPON DENAND, RETURN THE DOCUNENT VI THOUT RETAINING AMT OF THE INFORMATION CONTAINED THEREIN IN ANY FOIN WAATSOEVER VoLuNE D0 NOT SCALE _[SCALE: 0.750 [SHEET: 1 0F |
w E) [ o ¥ L T ® T 3




